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Implicit Differentiation Rules

Use Implicit differentiation to find the derivative of the function.
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11. sinx + 2cos2y = 1
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13. sinx = x(1 + tany) 15. y = sin xy
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Find the equation of the tangent line at the given point. You can check this by graphing on Desmos
33. Parabola 35. Rotated hyperbola
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At (6. l), y' = ﬁ = =1 Tangent line: y -1 = —l{x - l}
y=-x+2

Tangent line: y — 1 = =1(x - 6)

y==-x+17



37. Cruciform 38. Astroid
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Tangent line: y — 23 = i‘j-(x + 4)

Find the second derivative in terms of y and x.
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